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QUESTION 1

An ETL/ODBC application is inserting 1 million records in a single transaction against the PureData 

System for Analytics. 1 million individual INSERT SQL statements are generated. 

What can make this faster? 

A. Use a COPY command. 

B. Use an EXTERNAL TABLE. 

C. Increase the Socket Buffer Size. 

D. Set the COMMIT interval to 10,000. 

Correct Answer: B 

 

QUESTION 2

Which User Defined Function (UDF)statement is true? 

A. It accepts zero or more input values but produces one output value. 

B. It accepts exactly one input value and produces exactly one output value. 

C. it accepts exactly one input value and produces one or more output values. 

D. It accepts zero or more input values and produces one or more output values. 

Correct Answer: A 

 

QUESTION 3

What is the naming convention for system views? 

A. _v_... 

B. nz_v_... 

C. _$v_... 

D. sys_v_... 

Correct Answer: A 

 

QUESTION 4

In order to set a runaway query event totrigger when a query runs longer than two minutes, which two items must be
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configured? (Choose two.) 

A. The runaway query event was enabled. 

B. The pg.log file was configured for two minutes. 

C. The runaway query event was configured for two minutes. 

D. The nzsystem command was used to set the QUERYTIMEOUT to two minutes. 

E. The CREATE USER command was used to set the QUERYTIMEOUT to two minutes. 

Correct Answer: AE 

 

QUESTION 5

A stored procedure returning one value is created, which two methods can be used to execute the procedure? (Choose
two.) 

A. Using the EXECUTE command. 

B. Using the SELECT statementwithin a FROM clause. 

C. Using the SELECT statement within a HAVING clause. 

D. Using the SELECT statement without a FROM clause. 

E. Using the SELECT statement with tables in the FROM clause. 

Correct Answer: AD 
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